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OpenCViEH T —" 1" morphologyEx(\FE&FER A, B8E8ERANEZEE, EiBEUT:

dst = cv2.morphologyEx(src, op, kernel, anchor, iterations, borderType,
borderValue)

SRR -

src: JRIGEIK

op: HR{F=RE

kernel: B{EEREHEAZ,

anchor: B[IAZE, ZNERME.
iterations: TESE, ERLRE, KIAMEH1.
borderType: AlIZSEL, BLHRHFIL, ZBINFIA.
borderValue: TJE£%, BRE, EINLEKIA.
IREIEBEE: dst: BIEZEEINER.




S

— EESFEEE

EREREL:

MORPH_ERODE
MORPH_DILATE
MORPH_OPEN
MORPH_CLOSE
MORPH_GRADIENT
MORPH_TOPHAT
MORPH_BLACKHAT
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dst = cv2.erode(src, kernel, anchor, iterations, borderType, borderValue)

T

op = cv2.MORPH_ERODE

dst = cv2.morphologyEx(src, op, kernel, anchor, iterations, borderType, borderValue)
2 fEBK

dst = cv2.dilate(src, kernel, anchor, iterations, borderType, borderValue)

=2 i

op = cv2.MORPH_DILATE

dst = cv2.morphologyEx(src, op, kernel, anchor, iterations, borderType, borderValue)
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import cv2
import numpy as np
img = cv2.imread("cactus.jpg") # 1ZERE
k = np.ones((3, 3), np.uint8) # €323 *3R9EBIEH%
cv2.imshow("img", img) # E~RE
# dst = cv2.erode(img, k) # JE{HiR/E
dst = cv2.morphologyEx(img, cv2.MORPH_ERODE, k) # & {E
cv2.imshow("dst", dst) # BREMHBER
cv2.waitkey() # IR MEAIRERER
‘ cv2.destroyAllWindows() # BRHFIEEK




2 fE2BK
import cv2
import numpy as np
img = cv2.imread("cactus.jpg") # 1ZERE
k = np.ones((3, 3), np.uint8) # €323 *3R9EBIEH%
cv2.imshow("img", img) # E~RE
# dst = cv2.dilate(img, k) # BRKIR/E
dst = cv2.morphologyEx(img, cv2.MORPH_DILATE, k) # ERKIE/E
cv2.imshow("dst", dst) # BREMHBER
cv2.waitkey() # IR MEAIRERER
‘ cv2.destroyAllWindows() # BRHFIEEK
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dst = cv2.erode(img, k) # EihiR(E

dst = cv2.dilate(dst, k) # BRKIRIE

FinT:

op = cv2.MORPH_OPEN

dst = cv2.morphologyEx(img, op, k)
2. Aiz8

dst = cv2.dilate(img, k) # EIKERE
dst = cv2.erode(dst, k) # [EBiRIR{E

ZEMTF:

op = cv2.MORPH_CLOSE

‘ dst = cv2.morphologyEx(img, op, k)
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BEEZENEETEZILRERNRKERRERNGHRE. EARKENREX, B
MELCRE/N, FRABRESREIKERZ, ME2TRENKEE (HhEZEFSEIRY
WEERE— 1 KERE, ~BE) .
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OpenCVHfgEImorphologyEX()IE&SZFE L AR LM EIEHE.
dst = cv2.morphologyEx(src, op, kernel, anchor, iterations, borderType,

borderValue)
EEIEENZSE9cv2.MORPH_GRADIENT
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import cv2

import numpy as np

img = cv2.imread("spider.png") # EERE

k = np.ones((5,5), np.uint8) # GIE5*5HIENABEIE %

cv2.imshow("img", img) # ERIRE

dst = cv2.morphologyEx(img, cv2.MORPH_GRADIENT, k) # #H{THHE1z&
cv2.imshow("dst", dst) # EREEIEESER

cv2.waitkey() # IR N EABEIRER

cv2.destroyAllWindows() # BHFTEBEMN
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OpenCVH{EBImorphologyEx()FE&ZF H A LI INIEEE.

dst = cv2.morphologyEx(src, op, kernel, anchor, iterations, borderType,
borderValue)

e =885 9cv2.MORPH_TOPHAT
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import cv2

import numpy as np

img = cv2.imread("spider.png") # EERE

k = np.ones((5, 5), np.uint8) # GIE5*SHIENBIEI#*
cv2.imshow("img", img) # ERIRE

dst = cv2.morphologyEx(img, cv2.MORPH_TOPHAT, k) # #{TTRE=EE&
cv2.imshow("dst", dst) # ERINEIEELER

cv2.waitkey() # IR N EABEIRER

cv2.destroyAllWindows() # BHFTEBEMN
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OpenCVrfEEImorphologyEx()E&ZF A SEMINNEIZR,
dst = cv2.morphologyEx(src, op, kernel, anchor, iterations, borderType,
borderValue)

HBEZEENSE9cv2.MORPH_BLACKHAT
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import cv2

import numpy as np

img = cv2.imread("spider.png") # EE/RE

k = np.ones((5, 5), np.uint8) # GIE5*5H9ENAEIE %

cv2.imshow("img", img) # E/RIRE

dst = cv2.morphologyEx(img, cv2.MORPH_BLACKHAT, k) # #H{7EEZ=zE
cv2.imshow("dst", dst) # BREIEIEZEL

cv2.waitkey() # IR MEAIEREZEG

cv2.destroyAllWindows() # BIFIEEK
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